


















































10.

11.

12.

The Govt.of India recently issued a notifi-
cation altering constituencies in 24 States and
Union territories. This is done as per the
pravision of which of the following Acts ?

(A) Delimitation Act

(B) Census Act

(C) Indian Parliament Act
(D) State Reorganisation Act
(E} None of these

As we read very frequently in the newspapers
fraudulent activities in financial world are stiil
continuing despite various efforts made by
various countries w prevent them. As an
estimate by IMF, what is the probable amount
derived from such illegal activities which is
laundered through the world’s formal
financial systems every year 7 Around......

(A) US $ 500 billion (B) US $ 800 billicn
(C) US $ 1000 billion () US $ 1250 billion
(E) US $ 1500 billion

Indian Prime Minister during his visit to
Arunachal Pradesh a few months back
asserted that the State is India's Land of
Rising Sun. Which of the following countries
did not like his statement and had raised some
objection over his visit to Arunachal Pradesh
which is very much a part of India ?

(A) Myanmar (B} China
(C) Bangladesh (D) Bhutan
(E) Nepal

Which of the following is the amount of
insurance cover provided to the workers of
the unorganized sector under Rashiriya
Swasthya Bima Yojana ?

(A) Rs. 10,000 (B) Rs. 20,000
(C) Rs. 30,000 (D) Rs. 40,000
(E) Rs. 50,000

Which of the following is not one of the

highlights of the Economic Survey presented

in the Lok Sabha for the year 2007-08 7

{A) Economy has moved to ‘higher growth
phase’

(B) A trend of ‘Acceleration’ in domestic
investment and savings rate is recorded

{C) Buovant growth in Govt. revenue

13,

14,

15.

16.
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(D) Indian economy at market rate of
exchange crossed I trillion US § in
current fiscal

{E) Net Foreign Direct Investment increased
by 350%

Which of the following isfare correct about

sub prime crisis which was in news recently ?

1. It has reduced the flow of capital coming
to Indian Stock Markets.

2. The sub prime crisis is the major
financial crisis whose origin is in Russia
and Brazil. It has adversely affected the
economy of Europe and USA.

3. The crisis started when some people
started trading with false Share certifi-
cates of major blue chip US companies in
the stock markets.

(A) Only 1

{C) Only 3

(E) None of these

The Prime Minister Gram Sadak Yojana

(PMGSY) has a target to connect all

habitations of which of the following levels
with all weather roads by 2008-09 ?

(A) 1000+ (B) 2000+

(C) 3000+ (D) 4000+

{(E) None of these

As we all know the vatue of the Indian rupee
has appreciated in the recent past. The value

of the Rupee is directly dependent on which
of the following ?

(A) Availability of commodities in the
market

VAT introduced by the Govl. on various
commodities

Size of total Forex Reserve of India
currently

Capital flow in the market during a given
period of time

None of these

(B) Only 2
(D) Both 1 and 2

(B}
(©)
(D)

(E)
Which of the following banks has taken over
the Centurion Bank of Punjab ?

(A) ICICI Bank (B) IDBI Bank

(C) HDFC Bank (D) AXIS Bank

(E)} None of these



17.

18.

19.

20.

21.

| State Bank 2008

As per the provision made in Bharat Nirman
programme the pace of creation of irrigation
facilities is required to be raised from present
level of 1-42 million hectare per year in such
a way that it can achieve the target fixed for
the plan peried. What is the new iarget level
fixed for the same 7

(A) 1-50 million hectares/year

(B) 1-75 million hectares/year

(C) 2 million hectares/year

(D) 2-25 million hectares/vear

(E) 2-50 million hectares/year

Inflation has become a major area of concern

in India these days. What measures do the

Govt. of India/RBI normally take to control

the same ?

1. Fixation of Maximum Prices of the
Commodities.

2. System of Dual prices.

3. Increase in supply of foodgrains.

4. Control on credit and liquidity in market.

(A) Only 1 (B) Only 2

(C) Only 3 (D) Only 2, 3 and 4

{(E) Al11,2,3and 4

How much Education cess is being levied on
all the taxes to support elementary education
for the children of age group of 6-14 years
under Sarva Shiksha Abhiyan (S5A) 7

(A) 0-5% (B) 0-75%
(C) 1% (D) 1-5%
(E) 2%

Which of the following isfare correct about
various concessions given in the Union
Budget for 2008-09

1. Five years tax holidays for setting up
hospitals in Tier II and Tier III regions
for providing health care in rural areas.

2. Commodities Transaction tax to be
introduced.

3. Banking Cash transaction tax withdrawn.
(A) Only 1 (B) Only 2

{(C) Only 3 (D) BothZand 3

(E) Alll,2and3

Which of the following statements reflects the

aimis) of the Jawaharlal Nehru National
Urban Renewal Mission (JNNURM) ?

22,

23,

25.

l. Given focussed attention to integrated
development of infrastructure in selected
cities.

2. Provide basic services to the urban poor.

3. Scale up civic amenities and provision of
utilities in urban areas.

(A} Only 1 (B) Only 2

(C)y Only 3 (D) Alll,2and 3

(E) None of these

The Press Freedom Day is observed en which
of the following days 7

(A) May 1 (B) June 1
(C) May 3 (D} June 3
_ (E) June 10

As per the decision taken by the Govt. of
India now the Mational Rural Employment
Guarantee Act is extended to all the districts
of India. This means it will now be applicable

(A) 200 districts
(C) 400 districts
(Ey 600 districts
As per the reports published by the Ministry
of Finance recently the overscas borrowings
by the Corporates and currency fluctuations
has gone up by which of the following

(B) 300 districts
(D) 500 districts

percentage points 7 About ......
(A) 1% (B) 2%
(C) 3% (D) 4%
(E) 5%

The Govt. of India and the Reserve Bank of

India are planning 10 St Up an auloNOMOUSs

‘ATM Corporation of India” in which various

banks can get together for common ATM

operations. If this happens how will we all be
benefited by the same ?

1. It will be a cost effective measure as each
bank can share its operational cost with
others.

2. Clients can withdraw money from any
ATM at any location. They are not
required to go to their banks® ATM only

3. It will indirectly help the IT business also
as India has a large pool of IT skilled
manpower waiting for suitable placement.

{A) Only 1 (B) Only 2

{C) Only 1 and 2 (D) All1,2and 3

{E} None of these









(B)

Manages file operations and is limited to
one PC

Acts as a fat client and is shared on a
network

Acts as a fat client and is limited to one
PC

None of these

Answers with Hints

()
(D)

(E)

L. {(A)

2. (D) During the 11th Plan (2007-12) a 9%
annual rate of growth is rargeted with 10%
growth rate in the final year 2011-12. For 9%
annual rate of growth, 4% growth of agri-
culture and 9% to 11% growth in industry and
services have been targeted in the plan period.

3. 4B 5.(A) 6.(C) 71.(B)
8. (A) 9.(D) 10.(B) 1L.(C) 12.(E)
13. (D)

14, {(A)Under Bharat Nirman Yojana, goal has
been set to provide connectivity to all the
habitations with population of more than
1000 in the plain areas and 500 or more in
hilly and tribal areas in a time bound manner
by 2009, It was declared in Finance Minister’s
budget speech on February 28, 2005,

15. (A) 16.(C)

17. (D) Under Bharat Nirman Yojana, it is
targeted to create additional irrigation facility
of one crore hectares during the four years of
2005-06 to 2008-09. Thus, every year 2:25
million hectares are to be added to achieve the
target.

18. (D) 19.(E) 20.(E)} 21.(D)

22, {C) World Press Freedom Day is observed
every year on May 3 worldwide. It is an
opportunity to celebrate the fundamental
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principles of Press freedom, to evaluate press
freedom, to defend the media from attacks on
their independence and to pay tribute to
journalists who have lost their lives in the line
of duty. The United Nations General
Assembly proclaimed World Press Freedom
Day in 1993, following a recommendation
adopted at the twenty-sixth Session of
UNESCO’s General Conference in 1991.

23. (E) 24.(B) 25.(C) 26.(C) 27.(E)

28. (B) Yves Camille Desire Leterme is a Belgian
politician, a leader of the Christian
Democratic and Flemish Party. In March
2008, he became the Prime Minister of
Belgium.

29. (D) 30.(D) 31.(A) 32.(E)

33. (B) India’s first centre dedicated 1o
monitoring climate change and finding
country-specific solutions was opened at
Anna University (Chennai) by R. K. Pachauri,
Chairman of the Inter-governmental Panel on
climate change.

34. (A) 35.(C) 36.(A)

39. (B) 40.(A) 41.(C)

44. (A)

45. (C) A Megabyte (MB) is a unit of measure-
ment used to quantify computer memory and
storage. One megabyte is the equivalent of
approximately one million bytes .and one
thousand kilobytes (the exact conversion is 1
megabyte = 10,48,576 bytes and 1,024 kilo-
bytes in binary measurement). Megabytes are
also used to describe the size of digital files
and images as well as capacity of digital
storage units. A megabyte is often referred to
as a ‘Meg’ in computer vemacular,

46. (D) 47.(B) 43.(B) 49.(B) 350.(A)

37.(By 38.(C)
42.(A) 43.(A)

English Language

Directions—((QQ. 1-15) Read the following
passage carefully and answer the questions given
below it. Certain words have been printed in bold
to help you to locate them while answering some
of the guestions. ’

We have witnessed several disasters in recent
times, some natural, others man-made. The
frequency of such calamities has inured us and
deadened our collective sensitivity, but that does

not reduce the enormity of the personal tragedy of
each victims’s family and community. The
economic loss is only secondary to the human
suffering, but is also substantial. The Government
whether State or Central has standardised its
response. This consists of reacting late, blaming
others, visits by VIPs, announcing a relief package
including compensation for those affected and
then forgetting all about it. There seems to be little


















